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% error

PHASE : WATER
MULTI SCAT PART: INTERP ERROR
All uo, All u, Re = 6 um, U = 3 m/s (Refl, = 0.5*(Refl, + Refl,)

Max Error
100[ T ]
- T=025 — -
- T=100 A
80— T =414 — -
60 — —
40 —
20— e ]
O; e R e e g S T, | — L L L — | — L L ]
0 30 60 90 120 150 180
A¢ (deg)
Median Error
15 T
i T+ =025 —
S T =100
T =414 — -




% error

% error

PHASE : WATER
MULTI SCAT PART: INTERP ERROR
All uo, All u, Re =6 um, U = 7.5 m/s (Refl, , = 0.5*(Refl, + Refl,,)
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PHASE : WATER
MULTI SCAT PART: INTERP ERROR
All uo, All w, Re =6 um, U = 15 m/s (Refl,, = 0.5*(Refl,, + Refl,,)
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